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SANSKRIT
( General )

Paper : 6.1
Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the guestions

1. Answer the following questions : 1x10=10 §
T PRI e fordi - .
(a) Who is the writer of the Dasakumaracarita?
TRPTRBRS'T GTIF I ? '
(b) Who is the wife of Rajavahana?
AT AR W 2

(c) Give an equivalent in Sanskrit for the word

TR |
W B B e Al o
(d) Who is the hero of the Dasakumaracarita?

“TIFAIHRS’T ARE (I ?
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(e)

b

(g)

(h)

(i)

G
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(2)

YA g YFgarag e —
Who is STHTFT here?
TS THAHAR FIF AR ?

Who is THH9T:?
TR (P ?

Fill in the blank :
A X o[ T
IT Ffergreed foeT: _

How many Chapters are there in the
Sahityadarpana?

TfEemefr’s o AfRomn =R ?

The Tenth Chapter of the Sah;tyadarpana
deals with /@FR / {f.

( Choose the correct word )

Si¥emefa’s wm <R SRR / WS ED
3Rm |

( % o1 AR Bfeedt )

Who is the writer of the Sahityadarpana?
SREWmA’3 FRT @ ?

( Continued )

(3)

2. Answer the following questions : ' 2x5=10
T PITTRR Tl o
(a) Write a note on JUIIA:,
BETTS o @S o1t o o )
) ¥ g P T
Who is Agges: rqferred to here? What is
meant by A& ?

TS TR I I Srme 0 Cxem 2 e IR
w11 R Jremn w2

(c) “‘oraRraar wHR O’
What is the curse here?
QTS 71 5 2

(d) What is the meaning of ‘FETHIiE:"?
ERIRS” Wi ¥ 2

(e) Quote from memory the definition of IUT.
BoR SRR e e o

3. Translate any one of the following : S

&l R QA qrer wREm

(a) ¥ § e wdeTRND: SRR
EcitE LI CEE b mmmﬁml
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(4)

(b) R 7ar ¥ A= hy AUTITST et < AR wor

. g afefawedr AlvTgrer weafyg fmmEgadsd
TEREFYIITasiae a8 fERgraaar |
4. Estimate the place of Dandin as a writer of prose
romance. 10
TTRSR =14 Rer w8R 7w g 341
Or / 7%
Describe fully, how Réjavahana was set free from
the clutches of Candavarman.
PO RGN Rl AT T T 2,
ReRserg 3 i 1
S. Answer any two of the following : 10x2=20

S R I ot 2R TER {7
(a) Describe &9 with its varieties.
TR FIF AP 3691 F4T |

(b) Define ST and explain TI<A1ET and ToNIET
with examples.

Cezerwy wicen B 1| ICoTICT HE SCACAR
TP I ¥4 |

{c) Explain T8 with apt examples.
TR BRIRPTR BB SRR AT |
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(d) Define SHIRG and explain it with suitable
examples.

SICIER s ot e e S Srre

[ FA |

6. Define and illustrate any two of the following :

5x2=10

TR R @I B SRerE e B
foreT ; sffow ; s~ ; gedifET

7. Determine and discuss the figure of speech in the
following Slokas (any one) :

O OIS R SR e $R e 70
(R e @) -
(a) TfafE Telid 96 SofEmfT
TR AR TR 1]
(b) sERrive Hifmr a1 wieE: )
IR WG Fieed Y AT WS e ||
8. Elucidate the idea contained in the following
verses : :

oY CIRRCART S fordt « -

(a) T T TR AT A FewaeeRq
Y TG 9T T WY QIIEARE: |

(b) TR THa Feied FRFALT
e ToRErT fmt {9 {9 1))

10
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(6)

Or / Ti%

R FATTREFATAR NET A TY: | F Ihe TR
fraredt T 1 39 7 AWM PORE T SR
TEI TE: | FAEH AT 1 U I WO |

Read the above passage carefully and answer the
following questions in Sanskrit :

SO SRS ST “Ift T 2PITART B FFOS
s FR

(a) = 39 Af@?

(b) e T Ry

(c) TT=aa1 =T F: T

(d) = TROT F ATGAAT]

(e) FHV -Treeq Gepagfaars: foeamm |
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